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AVIUERE 358.9  [KL] 325.7  [kL] A 332 [kL] | A 9.3%
EmERE 121.8  [KkL] 120.4  [KkL] A 1.3 [kL] A 1.1%
KTimERE 1,458.5  [KL] 1,488.5  [KkL] 30.0 [kL] 2.1%
AEHERE 4,138.9  [kL] 4,192.0  [kL] 53.2  [kL] 1.3%
LPGERE 22.2 [Tm3] 20.4 [Tm3] A 1.8 [Tm3]| A 8.2%
#MAHRERAE 320.9 [Tm3] 323.1 [Fm3] 2.3 [Tm3] 0.7%
BEXERE 85,649.0 [TkWh]| 86,931.0 [ TkWh] 1,282.0 [Tkwh] 1.5%
EXKEERE 599.7 [Tm3] 632.5 [Tm3] 32.8 [Tm3] 5.5%
hTFKERE 1,112.0 [Tm3] 1,248.2 [Tm3] 136.2 [Fm3] 12.2%
AR HREE 512.1  [t] 512.5  [t] 0.4 [t] 0.1%
TREHREE 109.9  [t] 93.3  [t] A16.6  [t] | A 15.1%
JE—RRERE 3376 [t] 330.3  [t] A T4 [t] A 2.2%
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